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¢ A=1053 nm —1=10ns — ¢$=300 pm — I=5 TW/cm?
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¢ A=1053 nm —1=10ns — ¢$=300 pm — I=5 TW/cm?
* CH(4um) - Diamond (40um) — lIron(4pum) — Diamond (50um)
 EOS SESAME 2150
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¢ A=1053 nm —1=10 ns — $=100 pm — 1=45 TW/cm?
*  CH(4um) - Diamond (25um) — lIron(4pum) — Diamond (25um)
 EOS SESAME 2150
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¢ A=1053 nm —1=10 ns — $=100 pm — 1=45 TW/cm?
*  CH(4um) - Diamond (25um) — lIron(4pum) — Diamond (25um)
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¢ A=1053 nm —1=10 ns — $=100 pm — 1=45 TW/cm?
*  CH(4um) - Diamond (25um) — lIron(4pum) — Diamond (25um)

* EOS SESAME 2150
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thermodynamic path in iron (mean)
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P (Mbar)

¢ A=1053 nm —1=10ns — ¢$=300 pm — I=5 TW/cm?
*  CH(4um) - Diamond (40um) — Tantalum(4pum) — Diamond (50um)
* EOS BLF, no radiative transfer (calculations to be done)
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¢ A=1053 nm —1=10ns — ¢$=300 pm — I=5 TW/cm?
* Diamond (40pm) — Tantalum(4pum) — Diamond (50um)
* EOS BLF, no radiative transfer (calculations to be done)
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CH(4um) - Diamond (40pm) — Tantalum(4um) — Diamond (50um)
EOS BLF, no radiative transfer (calculations to be done)
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CH(4um) - Diamond (40pm) — Tantalum(4um) — Diamond (50um)
EOS BLF, no radiative transfer (calculations to be done)
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¢ A=1053 nm —1=10 ns — $=100 pm — 1=45 TW/cm?
*  CH(4um) - Diamond (40um) — Tantalum(4pum) — Diamond (50um)
* EOS BLF, no radiative transfer (calculations to be done)
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A=1053 nm — 1=10 ns — $=100 um — I=45 TW/cm?
CH(4um) - Diamond (40pm) — Tantalum(4um) — Diamond (50um)
EOS BLF, no radiative transfer (calculations to be done)
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¢ A=1053 nm —1=10 ns — $=100 pm — 1=45 TW/cm?
*  CH(4um) - Diamond (40um) — Tantalum(4pum) — Diamond (50um)
* EOS BLF, no radiative transfer (calculations to be done)
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¢ A=1053 nm —1=10 ns — $=100 pm — 1=45 TW/cm?
*  CH(4um) - Diamond (40um) — Tantalum(4pum) — Diamond (50um)
* EOS BLF, no radiative transfer (calculations to be done)
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